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EX A7.59

Problem 17.59 Determine the velocity of the block
and the angular velocity of the small pulley.
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EX 17.78

Problem 17.78% Bar AB rotates at 12 rad/s in the clock-

wise direction. Dl eewmine
the angular velocities of bars BC and CD.
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EX. AT .15

Problem 17.75 Bar AB rotates at 6 rad/s in the clock-
wise direction. Use instantaneous centers to determine
the angular velocity of bar BC.
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EX #1.33

Problem 17.75 Bar AB rotates at 6 rad/s in the clock-
wise direction. Use instantaneous centers to determine

the angular velocity of bar BC.
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EX 41.28

Problem 17.98 The angular velocity wsz = 6 rad/s. If

the acceleration of the slider C is zero at the instant
shown, what is the angular acceleration o/45? , / A.
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EX AT 1»2

Problem 17.132 Block A slides up the inclined surface

at 2 ft/s. Determine the angular velocity of bar AC and
the velocity of point C.
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EX 8.4

Problem 18.9 The 10-Ib bar is on a smooth horizontal
table. The figure shows the bar viewed from above. Its
moment of inertia about the center of mass is I = 0.8
slug-ft>. The bar is stationary when the force F = 5 Ib
is applied in the direction parallel to the y axis. At that
instant, determine ik 21t IR o 3

(a) the acceleration of the center of mass, and
(b) the acceleration of point A. F .
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EX 4836

Problem 18.36 The radius of the pulley is R=
100 mm and its moment of inmertia is [ = 0.1 kg-
m2. The mass m = 5 kg. The spring constant is k =
135 N/m. The system is released from rest with the
spring unstretched. At the instant when the mass has
fallen 0.2 m, determine (a) the angular acceleration of
the pulley, and (b) the tension in the rope between the
mass and the pulley.
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